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Evaluating the energy



Pseudopotential for atoms




Pseudopotential for atoms




Pseudopotential for electrons




Pseudopotential for electrons




Pseudopotential for kinetic energy




Pseudopotential for wave function




Pseudopotential for wave function
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Particle in a box
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Particle in a box

N P's
p=Asin 8:rcL
0 L
2
E:—ffp%xpdx
2 A2
=222 [ sin’| 8 fax
_ 167" A’




Particle in a box
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Particle in a box



Particle in a box
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Particle in a box
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Wave function normalization
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Results: Wo+0.1Ws
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Results: Yo+0o W1




Results: Wmajort® Wminor




Pseudized the wave function

Accelerates numerical calculations by a factor of 64 in 3D
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